same nhame

contr name

hav - DONIOL

Quick S

const

copy q
(l-qgq): subtr.
look up hav(LHA)

enter LHA

multiply ( 1- q ) * hav (LHA)

product = total

ight Reduction by Hand

enter

enter

< p: look up hav <

hav (s2s)
He 90° - s2s
s2s distance ship to star, aka ZD

L: Latitude
d: declination
LHA:

set:

Loc. Hour Angle

n+ (1-q)*hav (LHA)

n = hav(L- d)
p = hav(L+d)
gq=n+p

same hame

contr name

round product

copy n

hav (SZS) = sum

]
* 41235 leading digits fast
E H 9*1= [ofo
ZXE E]E 9*2= 1|8
B a2 8*1= |o|s
e 9 g 93= 2|7
1 E 8*2= 1|6
P o 7*1= o|7
S B g o5 as
By s3= 2|4
A 7e2= 1|4
P g @ ei= ole
% 8 digit res: &
1219 6860
Il rounda [EIEIEIR

Butterfly Mult . xIs

90°

enter hav (s2s)

Hc:

subtr.

hav(x) = sin?(x/2)

05 —
Angle x always taken to be positive.
If x > 180 subtract from 360
0 I I I I I | |
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360
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